108



PARTS

Code Spare Parts Code Description Quantity Remark
1 24182-1003M6 M6 Square Nut 2
2 24182-1003M4 D10*20 Stainless Bush 1
3 24182-1003M5 D12*1.6 Washer 1
4 24182S-1003M2 Plastic Handle (White) 1
24182-1003M2 Plastic Handle (Black) 1
5 24182-1003M8 M6*80 Stainless Bolt 1
6 03010111-0008 0O-Ring D170*4.0mm 1
7 24182S-1003M2 Plastic Handle (White) 2
24182-1003M2 Plastic Handle (Black) 2
8 24182-1003M3 M6*45 Stainless Bolt 1
13 03010201-0002 Long-Handle Plastic Bolt 1
14 03010201-0004 Rubber Flat Washer 14.5*4.2 1
15 03010201-0008 Plasric Gasket D32 Bobbin Filter 16*25*1 1
16 03010201-0003 Lock Nut. (Zinc Coat) 1
17 03010201-0005 Rubber Round Washer 16*25*3 2
18 03010201-0007 1/4” -3/8” Plastic Nut Lid 1
03010201-0009 Filter Base A (Bobbin 400/460/500) White 1
03010201-0009B Filter Base A (Bobbin 400/460/500) Black 1 D400/D460/D500
19 03010204-0009 Filter Base B (Bobbin 600) White 1 D400/D460/D500
03010204-0009B Filter Base B (Bobbin 600) Black 1 D600
03010205-0009 Filter Base C (Bobbin 7007800/900) White 1 D600
03010205-0009B Filter Base C (Bobbin 700/800/900) Black 1 D700/D800/D900
20 03010200-0027 [DIN934] Nut M8 SS304 1 D700/D800/D900
21 03010101-0017 [DIN125] Flat Gasket @8 SS304 1
PIPE50 PVC-U Tube D-50 0.03m D400/D460/D500
PIPE50 PVC-U Tube D-50 0.04m D600
22 PIPE5S0 PVC-U Tube D-50 0.05m D700
PIPEG3 PVC-U Tube D-63 0.06m D800
PIPE6G3 PVC-U Tube D-63 0.075m D900
06437 Arm Collector 110mm 8 D400/D460/D500
23 06436 Arm Collector 175mm 8 D600
06435 Arm Collector 225mm 8 D700/D800
03010104-0003 Arm Collector 310mm 8 D900
24 06433 Collector 8 Holes 1
o5 03010101-0011 PVC Tube 620mm*@6mm 1 D400/D460/D500/D600
03010103-0011 PVC Tube 845mm*@6mm 1 D7007D800/D900
26 00470-0110 Exhaust Tube Gasket 1
27 00497-0411 Exhaust Tube Cap 1
PIPE6G3 PVC-U Tube D-50 0.415m D400
PIPE5S0 PVC-U Tube D-50 0.45m D460
PIPE50 PVC-U Tube D-50 0.49m D500
28 PIPESO PVC-U Tube D-50 0.565m D600
PIPE6G3 PVC-U Tube D-63 0.565m D700
PIPE6G3 PVC-U Tube D-63 0.675m D800
PIPE63 PVC-U Tube D-63 0.755m D900

We reserve the right to change all or part of the features of the articles or contents of this document, without prior notice.

109



